Name: Class:

Fractions

Divide.

55 gESs= U 5eg=
T4sg= T ge2= T 7s5=
"8eg= T lig= Tlsg=
Terl= U= Tgsé=
T2+g= Tge2= T4sg=
Tsg= T9sg= Tgsl=
19%_2:—20_3+%:—21%_9:—
Ter7= Tis9= Tge3=
25.5_§= 26-%_42 27'3_%:




Name: Claoss:

Fractions
Divide.
1. 5 _1 2.2 _ 2 3. L1
g7 073 3707 0T 4= 20
4. . 2 _ 5'2; —l ° _2— l
475—16 3-2—3 7-3—102
£ . 2 _ 8 _i— l > —i_ ]—
875—32 ]-5—]4 ] 6—]2
10.2; —l 11. ;é_ 2 12.]_; _]_
5']_4 ]'5_]3 3'6_18
13. ;é— ]_ 14.§; —i 15. ;i_
2'8_35 6'2_12 4'6_6
16. _é— 17. ;é— 18.]__ _]_
] 6—2 9-4—12 3 ]—3
19.3_ —i 20. ;Z_ 21.]_; _]_
5 2_10 3'4_6 3 9‘27
22.4_ —l 23.;_ _]_ 24.§; _ 5
277_21 5 9‘15 8'3_24
25. ;i_ 26.;_ —l 27. _é_ g
5-8—10 . 4—8 3 6—35




